1.

B3k MR OB AR, AER (3 X AD - BRK

xz NN
HT T & & HE BB B % z 1SRN | 15~645% | 65521 L
7 # 55,847 | 148,920 | 74,914 | 74,006 21,174| 111,205| 16, 541
& as i) 801 2,041 1,086 955 298 1, 567 176
h + + Y 11 48 26 22 6 29 13
i R My 110 330 156 174 31 211 82
AN H =l i 56 189 98 91 21 114 48
PN i) HT 238 17 373 344 94 514 109
K H iy 45 110 60 50 18 10 22
R Ii 7 86 158 56 102 14 66 78
K = iy 1,639 4, 446 2,236 2,210 518 3,263 665
XK g & 1 T H 281 67 890 377 113 527 127
X B2 & 2 T H 292 801 393 408 75 597 129
X B & 3 T H 286 784 380 404 70 591 123
A 7 & 4 T H 357 972 465 507 103 653 216
A =5 & 5 T H 296 8317 413 424 75 640 122
X 2 & 6 T H 261 728 356 372 88 514 126
XK 2 & 7 T H 254 661 340 321 91 481 89
2\ B i 1,617 4,148 2, 256 1,892 606 3, 206 336
N B2 B 1 T H 262 674 341 333 18 471 125
N B B 2 T H 171 441 212 229 57 285 99
N B B 3 T H 445 1, 265 624 641 109 954 202
N B & 4 T H 551 1,436 694 742 205 1,053 178
N g B 5 T H 308 840 384 456 120 618 102
hoB2 & 6 T H 411 1,140 555 585 123 118 239
N B B 71 T H 408 1,065 516 549 83 760 222
2) [ F i) 180 409 204 205 29 250 130
m ok & 1 T H 104 355 171 178 98 243 14
#wm &k & 2 T H 167 582 284 298 138 420 24
ok B T H 354 1,258 627 631 285 916 57
H 5 ity 3,052 7,438 3,910 3,528 1,184 5, 454 800
n = #] 7 2,501 6, 547 3,313 3,234 831 4, 902 814
& B i) 221 649 3217 322 79 485 85
IS R 7 92 340 165 175 50 220 70
n H T 135 398 195 203 54 278 66
it AN = = 560 1,710 838 872 143 1,379 188
it = [E2 7 63 172 85 87 20 115 37
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T T F % | E BB ¥ % Z 15EESR | 15~645% | 655821 1
£ 5 o | 55 250 113 137 39 160 51
il % ) 16 282 133 149 40 194 A8
K H iy 201 563 280 283 60 411 92
74 N i3} 6,240 | 16,208 8, 216 7,990 2,TAT| 12,025 1, 434
L 4 i) 223 492 240 252 53 265 174
{3 il ] 99 198 81 117 23 90 85
T R 7 96 327 163 164 33 203 91
r FH HT 102 254 138 116 34 165 55
= R ) 592 1, 740 853 887 225 1,258 2517
% = H HT 791 2,184 1,092 1,092 220 1,608 356
1= = Hy 29 96 40 56 20 63 13
= 5 HT 1,287 3,180 1,632 1,548 422 2,493 265
F W & 4 1 T H 580 1, 445 704 41 175 1,086 184
F W & 4 2 T H 610 1, 650 800 850 304 1,178 168
F W & 46 38 T H 302 862 429 433 102 655 105
T B & db 4 T H 101 259 128 181 28 211 20
F ¥ & @B 1 T H 738 2,006 972 1,034 180 1,505 321
F W & B 2 T H 543 1,368 661 707 169 1,063 136
T ¥ & 1 3 T H 328 879 440 439 98 688 93
F W & ® 1 T H 605 1,620 780 840 220 1,252 148
F W &5 X 2 T H 852 2,276 1,092 1,184 286 1,693 297
F W & ® 3 T H 840 2, 330 1,121 1,209 362 1,761 2017
+ W &6 ® 4 T H 1,000 2,732 1, 370 1,362 488 2,023 221
T W & 8 1 T H 198 549 270 219 45 413 91
F W& 8 2 T H 644 1,601 781 820 273 1,181 147
T+ W & M 3 T H 455 1,123 533 590 212 821 90
F % &8 4 T H 510 1,318 648 670 267 884 167
w o 1 T H 300 144 378 366 115 522 107
#w ' 2 T H 710 1,524 814 710 222 1, 142 160
w & 3 T H 557 1, 260 640 620 244 972 44
#w® & 4 T H 371 172 421 351 123 587 62
#wHE o6& 1 T H 449 1,371 662 715 83 1, 142 152
wE o & 2 T H 270 864 407 457 75 709 80
M HE o & 3 T H 201 633 309 324 54 499 80
wHE o &/ 4 T H 416 1,216 594 622 91 988 137
i B i} 352 803 444 359 128 619 56
= H Hr 124 421 204 217 50 259 112




W3FE W TR GBS, ERR(3RMBIAD - EEX 68
T T 2 % I HEHER B 5 L8 155%RI | 15~645% | 65521 L
th H iy 852 2,505 1,235 1,270 267 1,823 415
i % 7 547 1,432 715 11 153 941 338
m oW H® 1 T H 583 1,412 735 677 270 1,083 59
oW " 2 T H 568 1,372 698 674 245 1,042 85
wm &, B 3 T H 598 1, 146 600 546 112 907 127
How ®H 4 T H 421 976 490 486 97 164 115
s O#H B 5 T H 581 1,348 707 641 97 1,063 188
B = ifg (A 2,161 1,059 1,102 | 221 1,494 440
J& 7 343 855 440 415 154 626 75
H 5F il 7 685 1,857 869 988 445 1,275 1317
A o b & 1 T H 356 970 482 488 179 724 67
% 2 b & 2 T B 1,171 3,274 1,618 1, 656 599 2, 475 200
& 2 b B 3 T H 1,534 4,585 2,325 2, 260 710 3,532 283
@ o b B 4 T H 733 2,055 1,029 1,026 335 1,608 112
A 2 b & 5 T H 1,572 4,757 2, 343 2, 414 745 3,749 263
IR i) 404 1,119 593 526 199 806 114
A g} Hy 49 161 83 78 9 111 41
o AN iy 5,643 | 15,075 1,715 7, 300 2,048 | 11,764 1,263






